Al4

B 3 .
1. mwﬁlmﬂmﬁﬁaﬁq\mﬂm_meo’wmﬁaﬁ*'““m =
e ot TR 3R ? |
) fay, fme 9 sem 2 oy, @ @ A
(4 forma, fommd @ ¥ _
hich rivers

istan, on W

(3) oW, Gae 9 foe

As per the ‘Indus Water Treaty — 1
water does India have absolute claim ? )
2) Ravi, Beas and Sutle)

(1) ~ndus, Chenab and Jhelum
Chenab, Beas and Jhelum

(3) Jhelum, Sutlej and Chenab ‘ (4)

2. areiet FoR wie Ghe FEr = 3R ? ‘_
(1) @R (o) fommTEe
/3 e (4) e %
Which of the following is the best quality iron ore ?
(1) Hematite (2) Limonite
(3) Magnetite (4) None of the above

960’ between India and Pak

Correctly arrange the following passes in India from west to east :
(1) Mana Pass, Shipkila Pass, Niti Pass, Zojila Pass

(2) Zojila Pass, Shipkila Pass, Mana Pass, Niti Pass
(3) Shipkila Pass, Niti Pass, Mana Pass, Zojila Pass
(4) Niti Pass, Mana Pass, Zojila Pass, Shipkila Pass

mmm@ammﬁg@m.mmmm?

(1) @esaEd gl @ ST
(3) s AT GG (4) e Tohan Tt auldl I

Saline and Alkaline soils are also known by another name. Which is the corr

ect

option given below ?
(1) Desert soil
(3) Wet and Marshy soils (4)

FoedT FIETAIS! ST / SPACE FOR ROUGH WORK

(2) Chopan soil
Chestnut or grey brown soil
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Scanned with CamScanner



A14
5

B
8. mzoolmzollmﬁmmﬁ?ﬂw@ﬁﬁﬁmﬂ%’
N DO 2 ‘90~ @ 19 @ 29/
i What is the difference in sex ratio of Maharashtra State as per Census 2001 and
20117
1) 09 (2) 90 3) 19 @29
I LA
9. @refier faum uar
N, EB_ Y Te g s Id AT
W WHe & gAWHIe Jeae S,
%. S U QARG AT AETESTH 71 el
gt I |
(1) o Rum of sie 378 ﬁ)‘ o forum & SRR IR
(3) Faum 31 ST AR e " () = onfer % SR e
Observe the following statements : i
a. Maval section does not come in rain shadow area.
b. Maval area is known for its climate.
c. Kasheli Ghat connects Poladpur and Mahabaleshwar.
Answer options :
(1) Only statement a is correct (2) Only statement b is correct '
(3) Statements a and b are correct (4) Statements bandc aré correct
10.  ‘TTHET IFHS HERIETAT Fvre fegama seesdrd ?
(1) g (2) X (3) it —) ng’r%ﬁr«ﬁ
In which district of Maharashtra are the ‘Darekasa Hills’ located ?
(1) Nagpur (2) Chandrapur (3) Gondia (4) Gadchiroli
11, 2011 <d7 STIURAT AR TeRalieh fegardl ‘et a7l $1d AR ?
(1) 163 <0.fe.H. 2) 193 =.f.f.
NEV S AT (4) 93 fh.
As per the Census 2011, what is the ‘Population density’ of Gadchiroli district ?
(1) 163 sq.km (2) 193 sq.km .
(3) 74sqkm (4) 93sqkm
P.T.O.
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. @efier faur o :
B e ool sittmrars faesama s,
g, 9w vt qo Rregama IR, "
. frEen 03 g fowm s ferama .

3. MA@ TP 3UF J@me fieaaE R,
gl HIorar/a faum /3wt sme/a 2
() w3 faum e e
(3) & H q-3AIUH w0aT 3mRa
Observe the following statements :
a.  Verul caves is in Aurangabad district.
b.  Chambhar caves is in Pune district.

(2) w9 @ F U Tqa &

c.  Chikhaldara hill station is in Raigad district.
d.  Gautala National Park is in Jalgaon district.

Which of the above statements is/are correct ?
(1) * Only a statement is correct (2)

Only b and ¢ statements are correct

(3) Only a and d statements are correct (4) All the above statements are correct

13. @rcfier e & -
wWa I
(g,ﬁﬁraaﬁw?m)
rell

31
WS

<HE"

a
B [£C: ]
Tt I ;
H q C)
(1) I - v I
@) m 1 II
(3) III ] v
4) I v I
Match the following
Column I
(Thermal Power House)
a. Chola
b.  Turbhe
¢. Fekari
d. Paras
Answer options :
a b

(1) III AY
(2) I I
(3) III I
(4) O v

HEZE o

i—tgm;._‘o
HR 25

FEe1 SIS ST | SPACE FOR ROUGH womk————

SHR"

Y 11
(Freg/feenron)
qes

Column IT
(District)
Mumbai
Akola
Thane
Bhusawa]
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1a,  FErERE S o s s e e o ?
S (1) Y@ER, A, ST, ST
(2) e, M, Fmcare, wwhre
(3) YuR, HuTcar, AERe, ETHRe
(4) YBHR, AEMR, HiEHRE, FATEE
Which of the following sequence of Ghats in Maharashtra from North to South is

correct ?

(1) Thal Ghat, Kumbharli Ghat, Amba Ghat, Amboli Ghat

(2) Amboli Ghat, Amba Ghat, Kumbharli Ghat, Thal Ghat'

(3) Thal Ghat, Kumbharli Ghat, Amboli Ghat, Amba Ghat

(4) Thal Ghat, Amba Ghat, Amboli Ghat, Kumbharli Ghat: ~ -~ -

15, g Tt e F s I RS S o ?
(1) firom, <@, drsmT, OE, T
(2) T, SR, e, SR, fron
@ heh, g, o, <, e

v.v-;éfﬁwﬁ, rer, firon, 9w, 91

In Tapi — Purna river basin, which of the following sequence of rivers from North to

South is correct ?

(1)  Girna, Bori, Panzara, Burai, Gomati
(2) Gomati, Burai, Panzara, Bori, Girna
(3)  Gomati, Burai, Girna, Bori, Panzara

(4)  Gomati, Panzara, Girna, Burai, Bori

TS SIS ST / SPACE FOR ROUGH WORK f ST ‘ " PT.O.
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16. st e st deag ag gudfaorit 999 aravr 'ﬁm
) i (2) W (3) Wl (4) "% —
ighes 0
has the major foodgrain crop production recorded as highest gr
after green revolution, t
(1) Rice (2) Bajra (3)  Maize (4) Whea
17. s ot Qo g @RE (NREGA) %) afufyafaa Arel.
(1) TR 2001 (2) st 2002
(3) "W 2005 (4) war 2011

The National Rural Employment Guarantee Act (NREGA) was enacted in

(2) October 2002

(1) October 2001
(4) September 2011

(8) September 2005

Grefiedehl ivrd} g FERIC Fehil ogaT 778} 2
() sl (2) ENR Hol

Which of the following is not an outstanding liability of Central Government ?
(2) Market loans

~A4) Foreign aid

18.

(1) Internal debt
(3) Treasury bills

19.“.W%WWWWWW(FRBM)W

(3) WEge M %ol sqareemqur
(4) ﬁmmﬁﬁumﬁm

I\:;'}snc: ?lf-]-the following has been suggested as a substitute for the Fiscal
ponsibi Ity and Budget Management (FRBM) Act by the F i

- y ourteenth Finance

(1) Fiscal Consolidation Fund

(2) Fiscal Deficit

(3) Revenue and Debt Management

() Debt Ceiling and Fiscal Responsibility Legislation

— . =
FTe4T PTATHISH ST | SPACE FOR Rough e
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20. W@ § S |ata M3 Feqraeh AW R,
(1) (2) «E (3) fuife (4) il
India is the world’s largest producer of .
(1) Jute (2) Steel M) Cement (4) Bugar

21. 1950 — 51 ¥ 2013 - 14 ¥ F@W WRARANA T T FAEAIA ety aavent e
. J

THRIT AIET TR,
(1) 1661 262 (2) 3069 59-2
(3) 1691 362 (4) 1567 362

The share of secondary sector in GDP in India from 1950 — 51 to 2013 — 14 has

increased by __ per cent.
(1) 16-6 to 262 (2) 306 to 592

(3) 16-9 to 36-2 (4) 156to 36-2

22. ﬁgawqﬁ?ﬁwzou-mw)wmammﬁmaﬁaaﬁzm@%mm
2.

7
(1) 21:9% . (2) 275% (3) 372% (4) 429%
According to Tendulkar Committee, the total percentage of population in India below
the poverty line in 2011 — 12 was
(1) 21-9% (2) 27-5% (3) 372% (4)

42-9%

23, TS AHEEAT 9RO 2000 = AR (qreedey) 3he ¢ &l
o, STRrEredT YRTT g T g O d gy e I gl Iuered Ho.
4. wmaammmmwm.

o e (o) e e o .
et T ¢
—(1) FE AT (2) B D B HHE

The immediate objective of the National Population Policy 2000 was

to meet the needs of health infrastructure and to provide basic reproductive

health care.
b.  to lower the total fertility rate to the replacement level.

C. to achieve universal immunization of children.

(4) %ad A

a.

Answer options :
(1) Onlyaandb (2) Onlyc (3) Onlyb (4) Onlya

P.T.O.

FeegT HETEIST SR / SPACE FOR ROUGH WORK
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A14
1 e aeTar A faoa
arefterd) wyoren WEwE (9) wata FHA LA

24,
(1) Ngwa anf i
(@) ua anmm (4) aiﬁﬂ;l ’fff’ -“ mortant principle 7
. " sementa are based on which of the followin )
The WTO agreements ar h M(,gtrfnvmll‘cd nation

1)  Non-diserimination
s ‘ (4) None of the above

(3) National treatment

o5, wreita R fsma v -
F U g fasw A @ e deEifis A et g e A -
g (CHIRHAHRA) St R wpy anen deEfis A et gx

& e
. U 1 GIEN IUHA BT & 2009 — 10 U G& F0ATd AT

TR Faov/elt fAumA gaF am/a 2
(1) fo faur 3% amaa (2) ®ad«
(3) wEHdH (4) Wad H

Consider the following statements :
Rashtriya Krishi Vikas Yojana was launched during the 11t Five Year Plan.

a.
b. The Mission for Integrated Development of Horticulture was launched during

.

the 121 Five Year Plan.
¢.  National Food Security Mission was launched in 2009 — 10.

Which of the above statements is/are incorrect ?
(2) Onlyb

(1) All the three are incorrect
(3) Onlyc (4) Onlya
26. ¥7 2018 - 19 99 WRaTS Fald IqE & T waifyes e,
(1) dmag (2) TR HYL
(8) wfrrfht aeg (4) T Il ghny

occupied the first place in India’s export earnings in 2018 — 19,
(2) Readymade garments
“4)" Gems and Jewellery

(1) Jute garments
(3)  Engineering goods

27.  @refirehl Bl o W fafor ST s g o
(1) Sreifer (2) i R

(3) Ao yrTa Y7Esy (4)  Tmfi
(‘;‘;hfc? one of the following is not a part of Bharat Nirman Programme ?
rrigation ‘ @ R . : .

——A8)—Schools in rural areas @ R:::} :(l)ea((lit:lﬁcatlon

o] BTHATSL SR /| SPACE FOR ROUGH WORK
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0g. Uiz = yq@ A & aga. A a fas.
¥, wi TR T 1@ gda 3 e
L Fe AW, 7 Wfie wig LA g
~%. LA wE Jram g
LR ISR wedT e S o AT

gt IW ;
(D) S/ eh-amfon ‘g (5\% 3, 9 M &
(8) = &, & o 8 (4 w3, AT g
The main features of Payment Banks are . Choose the correct sentences.
a. to accept deposits upto ¥ 1 lakh per individual

- b. to allow the use of ATM and debit cards

¢ to allow the use of ATM

\(}/ not to lend in any form
Answer options :
(1) Onlya,candd '(2) Onlya,bandc
(3) Only b,cand d (4) Onlya,bandd

09, ara FH (2014) TER & 2011 - 121=na°1 arftor 9 wEh w@aﬁaﬁmmaa@é

T : areft fAfera soama ot

(1) 32 -3Tfr 47 —(2)._32 aifer 67

(3) 32 3for 87 (4) 31 arifir 97

As per Rangarajan Committee (2014) defined poverty line for 2011 — 12 for rural and

urban areas per capita is ¥ .

(1) 32 and 47 (2) 32 and 67

(3) 32and 87 (4) 31 and 97

30. aFEwA IEaTd 2018 UK WRAME TEld #ind 1 ah Wl UK ScqEndid fee
T AR,
(1) 41 (2) 35
3) 173 (4) 83

The Oxfam Report 2018, says that the richest 1 per cent of the people are generating
per cent share of National Income in India.

(1) 41 (2) 35
(3) 73 (4) 83
FHTT HHTEIG! ST / SPACE FOR ROUGH WORK ‘
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gérﬁaw T ot FifRTe woaErE O Iga ST 2
31. & ﬁﬁmm (2) :}azrh?ﬁuwmqaa
(4) ggd

(3) THIT ugd _ )
Which method is used to determine the distance of different stars from the Earth ?
(2)  Parallax method

(1) Gravitational method
(4) Direct method

(3) Parallel method
32. UORde™ (@Rwe)wE_ ARG IR,
1) Wb xR (2) Forw Shae
(3) i S 4) WREeEs Shae
Working of a Solar cell is based on :
(1) Stark effect (2) Coulomb effect
(3) Zeeman effect “4) Photovoltaic effect

33. @ﬁﬁmﬁaq@%ﬁmmﬁmﬁmmwﬁmmwm?
(1) wE= (2) s
(3) 3riwe (4) IO A

Who was the earliest to use algebra to solve astronomical problems ?
~(1) Bhaskara (2) Brahmagupta

. (3) Arybhata (4) None of the above

84. T A Raeet agfisma .

(1) Cu, Zn, Ag ~.(2) Cu,Zn, Ni

(3) Cu, Nj, Ag (4) Cu, Zn, Al

The copper alloy German Silver contains .

(1) Cu, Zn, Ag (2) Cu,Zn, Ni

(8) Cu, Ni, Ag (4) Cu,Zn, Al
35. THRSEREET YertaT

¥, ffvwa sitfafos @ o
q.  fifvea gefhvae fag s,

&. Tougadt ored srgam.
Tt S

(1) & 37T 3 =R 3R (2) = 3 % s g
(3) 3 37fdr % AR 3R (4) wd 7 wie amiq
A crystalline solid has

~4. definite geometry.
b.  sharp melting point.
C.  anisotropic property.

| \/Answer options:
~/"(1) aand bis correct 2) band cis correct
(3) aand cis correct (4)  All of the @bove are correct

geeq] SIS ST / SPACE FOR ROUGH WORK
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36. gﬁﬁﬁmwm?wmm .
: AV LA
(3) 3T HHTSH
According to Moseley, the basis for ti f4)- em'é .
(D Atomic weight e Perz(;()llc xll\rtroz::gcment of elements is
\,('3‘){ Atomic number 7 (4) Atom;(c:: Lrglli?ne
37.  onyf deeER artEmme T e arefemm -
T ARy, S, b, wie, A
%, Wifew, GaE, Wi, T, affmeftn
T T, GO, dheEn, <, S
Fher Hvmr Tt s AR ?
1) S (2) Tad o (3) ad A (4) ®Fd S
The five kingdoms under the recent scheme of classification are
a. Protista, Fungi, Mammalia, Annelida, Plantae
b~ Monera, Protista, Fungi, Plantae, Animalia
c.  Protista, Fungi, Plantae, Porifera, Animalia
d. Monera, Fungi, Mammalia, Plantae, Animalia
Which of the option given above is correct ?
(1) Onlyc ~2)—-Only b (3) Onlya (4) Onlyd
38. Wmﬁﬁm%mmwmﬁmﬁmﬁmm
| 1 ot vt fem A
(1) FTHE (2) fedrsEA
(3) feefe (4) HIAREH
A toxic substance responsible for chills and high fever recurring every three to four
days in malaria fever is due to . :
(1) Interferon (2) Hemozoin
— (3) Hirudin _(4) Colostrum
gy, “anfee fedin R & mg@@ﬁ@sﬂaﬁﬁﬁmwwﬁaﬁgém ?
S W P (2) dudiefiem
3) e | (4) v (&5H)
The disease “African Sleeping Sickness” is caused by which of the following
parasite ?
(1) Trypanosoma (2) Paramoecium
(3) Mosquito (4) Tapeworm
40. wmmmmmm@?
1) FrererE (2) HABIECH
3)  oifraiierd (4) SETHEE
Algae and fungi are classified in which of the following groups ?
(1) Gymnosperms ~(2) Thallophytes
(3) Angiosperms (4) Bryophytes
P.T.O.

FHTEq] HITETET ST / SPACE FOR ROUGH WORK
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| Staphylococcal food poisoning is caused by

A4 qrrfier wftagr AT grEFara ?
(1) el REa e e (2) wIgE
(3) TR A% FaN (4) TEEFREE
: ‘ hyll of the leaves get
In which of the following disease of plants does chlorophy
destroyed and the leaves shrink ?
(1) Mosaic disease of tobacco (2) Citrus carfker
(3) Smut of jowar (4) Rhizoctonia
2. Erehedhl P A @ TR qiét T 2
(1) e e S (2) TRt et
(3) uNfeEm (4) f= gfm S
Which of the following biofertilizer is added in rice fields ?
(1) Red algae (2) Brown algae
(3) Rhizobium - 7(4) "Blue green algae
43. A Eelicld o o s s SRR S,
A, HivEE Eed 79 9ga Ho
¥ WL W
. ST IR |19 S Siasfaes FifehT s
gt 3w
(1) ad 3F-3f01 9 (2) &, 9 Mo &%
(3) Wad 3 T % (4) -k & IO
Mechanisms by which bacteria becomes resistant to antimicrobial agents are
a.  Alteration in surface receptors for drugs :
b. MDR pump
c.  Secretion of inactivating enzymes
Answer Options :
(1) Only aandb ' ' (2) a,bandc
(3) Onlyaandc (4) Onlybandc
44, EicAlFIehd @ fayeam : Bld.
(1) 3Tt TR hetel Cedieiaeliv Sicufev Sheamges

(2) ﬁwmﬁﬁmﬁmﬁwmmmm
(3) ot forwrean fifiiiar ST okt T TEmETR e

(4) Tt 79 PR

(1)  ingestion of preformed enterotoxin
(2)  colonisation of mucosal surface followed by production of toxin

(3) colonisation of wound or abscess followed by local toxin production
(4) All of the above reasons

T SIITE! ST | SPACE FOR ROUGH WORK
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45. wEeinE emeEfindn 3% am.
(1) wifdn aRwa wAw, T4 R

(2) e g Afdwe wied, T@ R
—3)— et $fRege M Hiew ofg welis ffism, e

(4) Fve e v e wg

National Salmonella Phage Typing Centre is at

(1) Lady Hardinge Medical College, New Delhi

(2) Maulana Azad Medical College, New Delhi

(3) National Institute of Cholera and Enteric Disease, Kolkata

(4) National Centre for Disease Control

46. Wmmmmmﬁa@ﬂ

@ 4 T 9: ‘

2 6| |4 ?

6| |4 8 ?
5 | 5 4 4
8 6 5| 8

I @ @ @
6 B 4] 6

Select the logical column of digits for replacing the column of question marks.

20 ] e [
2 —g_ 4 ?
6 4 ? ?
5| [5] [4] |2
5 5 4 4
8 6 5 ’ 8
(1) @) @) — 4)
6 4 6 6
6 8 4 6
PT.0:

AT HTHTFTS! STRT / SPACE FOR ROUGH WORK
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47.

B

16
iy s R T TG g Fven Hawia @ v 3 qHT vt qof AT T
e, oTeht wegwet a1 YecHE S8t fas.

ﬁ@wmm@@iﬁ-ﬁﬁwmmw
et Reima ared B, |

(1) _hHSI 3for siehrd
(3) mmardt Fnfor AT (4) FHSR for Iuferh

Select the pair of words or word groups that fit in each of the sentences to make two
separate and having equivalent meaning in the given context.

The stock market having plunged drastically, the investor’s .

mood on the

trading floor seemed incongruous.
(1) enervated and funereal (2) inconsolable and sardonic

(3) sanguine and buoyant (4) enervated and sardonic

48.

' 1,2, 3, 4,5 30 6 H&A SHAAT Hiwqen w9 oA, 3 € SN 1 AT 6 =

HET iR
faeg giat T i 4 & Hen 6 < foeg gETR @ S 1§ HEAT AT YBTe e
: | I
W@WWWGWW@@ﬁaﬁmwmzmmﬁwm
BT SAPfl A0t R/ ITAT YBTR SHY0Tel} HeeTT ardet 2 '
top and right side face with
on the right face 7 nt place that has number 2 now, then which number will 1be
2
(1) 5
(2) 4
3 3

(4)  More information is needeq for selection

X
geeqT SIS 9T / SPACE FOR ROUGH WoRK
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49. WEaSA AAT 9 UIeH 9eR frsga

?:;wzqsﬁﬁaaqﬁw Ffersh ol W R Rrdfirga Sqama wri<h wren e
| @ 3 3) 4 '
Accompanying net is folded to get a cube. =L s

Select the number of vertices of the cube at which two or more diagonal lines on the

faces meet. . .
1w 2 @ 3 (3 4 @ 5

50. mmmmxmmawmmuﬁﬁm

1) D @ A% @i @
¥ 7 ' |

Study accompanying transparent sheet of paper X and select the fold that is made
using it. ’ '

1) N (2) . A Cl (3) ¢
x & ;

FeeqT HETEISE o / SPACE FOR ROUGH WORK.
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SN amae At Fer IHEAH
O G O G SN Gy G e

mwmwﬁwm.mmwwmmmﬁm
S 37 TRV AT A, T PR (3a) Grgreareh w SR AT
e STeEETdl T aRRe Faveiar Tatg wiuw TR R,

T gRraTerdil 321 Fata ATTeAT ShR e HWm waty Fasr.
(1) w@ﬁmmwmmmmmwm

g
(2) Faewdia TGH FOEARES T FEA wEfs wremEen qgde g e ATl
oAl ST T 3. .
(3) @ﬁmﬁ»mﬂ@mmwmmmmmw
3.

(4) 1 I AT TRV HRd T T BT BHelT TAGH BT SIFIAT HAH IR,

The decline in voter turnout at elections is chiefly explaiﬁed by the decline in voting
by younger people who have very different lifestyles. Older people are much more
lik‘ely to vote. If this trend continue;, probably this will lead to a point at which no
government can be said to have a mandate to govern as the number of voters will be
too small to indicate the wishes of the majority. Society needs, therefore, to find an

alternative to conventional elections so that the wishes of the people can be heard.

Select one option that best expresses the flaw in the a@xg_.gyggmenf;:

st e

e ——

f(_l)"’ Elections are used in all democratic countries as the only well established

[
process of choosing a government.

(2)  With the help of social media, young people may be more likely to join pressure

groups than to vote in an election.

‘;AB)/ There may be problems in using alternatives such as internet and postal voting

due to remote residential places.

(4) PReople who-are young-now-may-become-more likely to-vote-asthey get older.

gHeegT HTHTEIS! ST / SPACE FOR ROUGH WORK *
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go. wrehe v Rdtwun miftdar snuf o,

| of dis swden we s A, B, C, D anfY K, s JewRs A A e
g/ =@ M, N, O, P i Q weeatiasi 25 wwicy dmed a@edn ATea. i
("

II. E & O =4 @iR 3R, S, M =41 I7ellehd A om.
I C anf N TeiTean g HURYd 2M1e. ‘}ﬁ JE

IV. B, D= s @ 3R, Q T4 WHIC 3112,

V. M @ G Gl e A ;i N\

VI. P,GﬁQWEEﬁEF@HFEm%,DWWaﬂ%.
mBmemﬁw,Eameﬁmeanmﬁw,mow

et sl STt gE SRl vl I ?
1 Q @2 P
@) E . 4 D

The following question is based on the information given below :

I. ABCDandEare five persons sitting in a line facing South — while M, N, O,

p and Q are five persons sitting in the second line parallel to the first line and

facmg North, facing each other.

II. Eis opposite to O who is just next, right of M.

III. C and N are diagonally opposite to each other.

IV. B who is just next to left of D, is opposite to Q.

1V-.' ;M is at one end of the line.

VI -P who is just to the left of @, is opposite to D.

If B shifts to the place of E, E shifts to the place of Q and Q shifts to the place of B,

then who will be the second to the left of the person opposite to O ?

1) Q (2) P

@) E 4) D
T SIS SR / SPACE FOR ROUGH WORK
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wﬁam@ﬁuﬁaﬂ@rma@dﬂﬁmaﬁmmmﬁrmxﬁmm
5 RemTdeyTa HROME IUARH e I .
&t il QU HISA STV G We) (teleshopping)-Fe-

R
. m_mmm@hm.
RII — B} QT SSUd S35+ @E e des firesd ATél.

qaidt 3| ;
(1) TWSHE SR %ad RI 3718 RIT A8}

(2) |WIHT FRU % RII 372 RI Tet
(3) HWaT HR Q8 TqT W RI fhat RII 1R
(4) @weEta HRO RI & a1 ffar RIT & 18

In the following question, an Assertion followed by two Reasons RI and RII is given.
Apply reasons to the Assertion and find the answer.
People, these days, are doing a lot of teleshopping.

Reasons : RI — People are watching TV a lot.
RII - People, these days, are not finding time to shop in the market.

Assertion :

Answer options :

(1) Only RI not RII is a possible reason
(2)  Only RII not RI is a possible reason = ﬁ
(3)  Either RI or RII but not both reasons 8 @2_ @

t.(4) Neither RI nor RIl is a possible reason

54, mmmwmmmm.mw.wmmws%m
m%m.wg@maﬁa%aag4%xﬁ.mwm#mt@ﬁ3ﬁsm.mm.
maﬁmm@ﬁmﬁ%ﬁﬁam

ﬁaﬁaﬁaﬁﬁmeﬂﬁrzﬁﬁ. AT el

Mg ? 2 s

1) 14 7 l pZ L (2) 12 o2y ¥ W‘,’
M@?‘"IO 2 @ @7 4% %“ :

Prashant starts from his house
right, travels 5 km, then turns rj
towards East. Finally he turns le

in kilometers ?
(1 14 2) 12 | 3
® 10 W 7 —
f g v
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55. A, B,C 3 D ¥ R FSIW RO 6200 Hrvediar @ sfifim tdeuta T . B.
S S0 T 1 e 1 rh, e o 1 S
o
G © L3
e e
> A

20% B
25% 24!
B

C 23%
32%
(1) 1240 @) 527
(4) 1426

(3) 713
A survey is conducted on 6200 villagers staying in 4 villages A, B, C and D and

having various favourite colours. 50% of people from village B have red as their
urite colour. How many people from other villages have the same favourite

A
D 20%
25%
B

favo

. C 23%
32%
-—..‘——---‘
Favourite colours "1 q U 1 3(9 People staying in various villages
(1) 1240 ~TF @ 521
(3) 1713 (4) 1426
P.T.O.
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. e iﬁa'?ﬂ7tﬁ E?WWWTW ERERT
56. 2 e ﬂm m F:n A
e o /;‘f,-:"" o .
. e A @ 70 A (3) 1386 4728 A )
b If the diameter of a circular track is 28 m and there 1q(a 7 m wxde road around the
track. then find the area of the road.
rebt (1) 616sq. m (2) 770sq.m (3) 1386 sq. m (4) 28sq.m
. L
57.  SrTdiel AU HQUEETS! 5 T[T 12 Rea e, %: '7,5- “‘ﬁ @
q9 HW FEE 15 T frdt feag amrdia ? ‘ '
(1) 15 (2) 4 (3) 12
Five workers take 12 days to weed a field. ___.LD’ - @1\
How many days would 15 workers take to do the same task ?
(1) 15 Ve 3) 12 4) 16 /f
58. oM ai=a F=aT I 09 f@aﬁa@ama&fgﬁfwaﬂﬁﬂ'ﬁﬁ.!
&id, W N A 99 ) 2 et 24l
(1) 20,30, 22 9% w .-(2) 22, 24, 26 @ ﬂu/%’—
AN \(3.-19, 25, 28 =¥ — (4) 17, 25, 30 9§
P {,’V " The sum of the present ages of 3 persons is 72 years. Seven years ago, their ages
by . were in the ratio 4 : 6 : 7. What are their present ages ? |F
‘ "f"r} © (1) 20,30, 22 years (2) 22, 24, 26 years | 34~
(3 19,25, 28 years (4) 17,25, 30 years 5; ;

C 59. aﬁaﬁ%arﬁlow%maaﬁaﬁam?%%a@ﬁaﬁ T wpw e findt 2

/f/::\/\ (1) T 1575 (2) T 500 (3) T 650-25 (4) ¥ 551-25
J;ﬁ/ The true discount on a bill due 10 months hence at 6% per annum is ¥ 26-25. The
amount of the bill is
(1) T 1575 (2) ¥ 500 (3) ¥ 650-25 (4) ¥ 551-25 |'spns
* R
60. U Icfiq T, 50 4 7 25 W A 5 6 - 8 1 JHuITa Aot aTrRa. mmw%m b .
T 420 3, T 50 duih Frdt AR 3R 2 ETTOHE 25 4
Y Mo eI T 2w ALD
<%, ﬂ/ 210 (2) 126 (3) 252 @) 70
-
\:/ ‘: A bag contains one-rupee, 50 paise and 25 paise coins in the ratio 5: 6 : 8. If the totgl
-5 amount is ¥ 420, then the number of 50 paise coins is 13 - MO
1) 210 2 126 (3) 252 @ 170 -
ZoeT FTATAISY SIF | SPACE FOR ROUGH WORK “?k
5% Ay ) @ VC’T ile}
i '\'2 ' & 10 noOlgtp =

< - : 26!
£ Vo " T oM
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MR Faudt el o HE SIS qrEuT=a
USRS AT 314, =it 321';;T é:fgmm lz:%ﬂ NN m%ﬂa 7t ﬁmq%;ﬁ-’
Usft, geefiawd Igm ¥t 21, ik

(1) 10 %gawt, 2019 @) 14 2010

(3) 149, 2019 4) 179, 2019

{Xmerican astronaut Christina Koch is the female astronaut spending longest period
in space. She spent 328 days inspace. On______ | she took off from Eagrth ’

th
(1) 10 February, 2019 (2) 14" February, 2019

(3) 14" March, 2019 (4) 17*" March, 2019

62.

Wﬁa%m@a@mwﬁwwﬁ@mﬁm%m
IR, W TR o FET GYE IR el o1 G HioTeT FgTET HI A ?

(1) sfem @l (2) hefer s

(B e aggr @) T FEE

Guinness World Records has taken note of adventure swimmer Prabhat Koli who
has won the Central Government Tenzing Norgay National Award and Maharashtra
State prestigious Shiv Chhatrapati Bravery Award. So far he has crossed six seas.

Among the following, which one water body has he not crossed ?

(1) English Channel (2) Catalina Channel

(3) Strait of Gibraltar (4) Suez Canal

ﬁmaﬂta%’mmmlﬁmﬁ;lwmaﬁﬁ,gwﬁmomm@wmm
SO &1 SigeT JTH STedl 3ATE.
(2) 42

hed _

(1) 24

(8) 12

In the last 72 years after free
persons have achi

4) 21

dom, in our country of 130 crores population, only
eved the honour of Param Vir Chakra’.

(2) 42

4) 21

(3) 12 |
IR
P T.0.

1) 24
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64.

e

e e

24

s s At Y TR sy (gegren) wata Fa.

y_mq};ﬁgmmﬁ%mwmmﬂ- FreT SITOTR 3T
4. ST HIEYRHIA] Rame T 5 drguda deehig Ig=m HIkd F&ad '
. a1 AN @™ 30 HINET S A TR BT AR, .
<. 1 AT 15 R WIS gaT@iaT 9 SR fim 3@ gu ar el SR SR

ggtdt I : — '
s

(1) SFTFE “
(3) Wad I M @) » =
ging Ayuer?fan Bharat scheme.

Select the inappropriate (wrong) option regar
a. 10 crore Indian families will be benefited by this scheme. kh free of
b. Ayushman card holder family can avail medical treatment upto ¥ 5 la ee

cost.
¢. 30 crore Indian families will be benefited by this scheme. _ .
d. 15 thousand Private Hospitals will get status of Jan Arogya Mitra by this scheme.

65.

Answer options : ,
(1) Onlyb (2) Onlyec
(3) Onlyaandec (4) Onlybandd
Hifedt a7 émﬁ*nd“@aé#ﬁqwﬁwdmma@ﬁwwmmm
. gdtem. (UPD) L 9H= $H6W SeA-SeE
9. TIM. (Al II.  fefiea te syamen
%.  SLIUA. (GeM) OI.  Sgard! 9 see
3. mA.edA. (IoT) IV. & &R 3arT o9
vt I ; |

<) g H S
(1 IV I II I11
(2) III v b II
3) I 11 IAY IIT
4 II I v II1

ains the concept and its utilization in daily life

Choose the proper option which expl

with advancement of Information Technology.
Utilization

Concept
a. UPI ~— L Artificial Knowledge Exchange
b. AI ~ . II. Digital payment system
c. GeM _\7\_\,, I~ Internet of things
d. IoT . : ~IV.  Online platform by the Government, -
Answer options :
d

b c

,, a
\_/ (1) 1v I II II1
A% I II

(2) I
@ I
(4) I I

I IV I
IV I

FeegT
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66. fEw Wi U e , , ,
watg faer, e A& Tuw, ad q ey g A FR GO TR
Y q f3wmm S —
A, 2016 —3™  A—
9. 2017 - IWHEERE L e et
®.2018-7gs . NI frdfl Rrder
3. 2019 - IV.
Tt I ;
H q F T
(1) III II A" |
(2)—1I I1I | T 17 P
3 1Iv I II1 I
4) I IV II 111

Choose the option which explains the correct order of place, year and Chairperson
regarding Akhil Bharatiya Marathi Natya Sammelan.

Year-Place Chairperson
a. 2016 — Thane I.  Jayant Savarkar
b. 2017 — Osmanabad II. Premanand Gajvi
c. 2018 — Mulund III. Kirti Shiledar
d. 2019 — Nagpur IV. Gangaram Gawankar
Answer options :

a b c d
(1) 1II II v I
2 II III I v
3) IV I III II
4) 1 v II III

67. ;ﬁamﬁm@éﬁw@waﬁzow—mwwﬁﬁﬁﬁ@aaé.m

T e94l4RF A (2) 164663 A &

(3) 771215 #fgH (4) 708445 ufgw

How many metric tonnes (MT) of e-waste was decomposed and recycled during the
year 2018 — 19 as per'the Central Pollution Control Board’s information ?
(2) 164663 MT

(1) 69414 MT
(4) 1708445 MT

(8) 771215 MT
FHeeqT HIEIS SN / SPACE FOR ROUGH WORK
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‘= AR’ T ot Ferht et 372 2
i z??wmmwfg; - (2) T, ARE T
(3) w0 WY (4) M.

of Queen of Britain ?

been appointed as ‘Queen’s Counsel’
Who has been app Q 8y 1, Nageswara Rao

e (2)

(1) Ujjwal Nikam
(4)

R.M. Shinde

(3) Harish Salve

69. T T 3% T e fefiest syram waieft fetd wrefersmm 312,
¥ fefrea yram=a HETY GHAT ShHhER,

(1) %% &, § a7for 5_ @
(3) e %, T 3MfUr 37

The following is a report on di
a. Karnataka ranks first in the use of digita

HH F, % 0T 8

T4 Tty - AT,
gital payment by The Era of Rising Fintech.

1 payments.

b. Maharashtra ranks second in the use of digital payments.

¢. Bengaluru ranks first in digitised cities.

d. Hyderabad ranks second in digitised cities.

Which of the above sentences are correct ?
(1) Onlya,bandc
(3) Onlyc,danda

(2
(4

) Onlyb,candd
) Onlyd, a and b

70. ﬁfﬁwé@ﬁmﬁwﬁuﬁnﬁﬁuﬁﬁmmmawmﬁ(mﬁmm)
SEITEd hoAe 3fie 11 (IMPRINT-II)WWW@?W? '

A Gl gEIfaeTeETe greaas
9. ... ueie wreamgs
F. IR, WIAEA., .. A

8 AR, @A, Y, 37,3719,

aefte e

y ST TH .30, 3 et gfreafidida

UTEh
Wﬁﬁﬁﬁ:
(1) %aq 37 a7fir § (2) ®HT
(3) W 3, § Ifor % (4) % & afr g

Who can participate in the Government

of India (MHRD) proposed IMPRINT-II

scheme to inculcate culture of innovation among higher education instituteg ?

a.  Professors in Private Colleges

-.~b!  Professors in ITI ‘
c.  Professors in IIT, NIT, IIIT

Answer options :
(1) Onlyaandb

d. Professors in IIT, NIT, IIIT, IISER and Central Universities

(2) Onlyd

(3) Onlya,bandc ~4)__Onlycandd
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71 HNT S 9 qaay vanfde frertn s anfaeme T '
fyeneatar / meme ga faare
Tttt freqor v aa Vg Y, e g gar dafor gfewr ggersa FEA

A14

i,
HUATETS

27

LA CRImERT, | e 3R

/(“Waﬁwmwwm
(2) YRGS ST, qrammde sridEet @i A
(3) e g qrétet s e

(4)  wrfesfiard gt amr

F :
:tr St(;]d?nt_s be!ongmg to the Scheduled Castes and Neo Buddhist class who did not
gel admission in the Government hostels, to enable them to take post matric

education, the Government has started

for their lodging, boarding and

educational facilities.

(1)
(2)
(3)
(4)

Padmashree Baba Amte Swadhar Yojana
Bharat Ratna Dr. Babasaheb Ambedkar Swadhar Yojana

Karmaveer Bhaurao Patil Aadhar Yojana
Savitribai Phule Aadhar Yojana

72. 3T HIHEIE! 103 T FEAGER
16(6)

_ 2019 WEA WRAT UsTHE=AT FAH 15(6) HT0T
YT aiqelel qHTas ST el I w3 e

3. YA ATY/SHIE 9 $a ATTESTETe

T &I AT BT Iga.

¥ e aEmEEiiaET 13% vafd STREOTE FHIOT el

®.  I1 FAREVTET AN Refoes g Aeifese SefiA1 @ EIed.

T, ofeie ARSI 10% THd SAREVITE THO TE.
FhATH HIOA T TSR 3TRd ?

qatel I

(1) T o 3T (2)—3%;-], T M S
. (4)~oFa. & AT F.

(3)

For economically backw

had 3, % A 8
ard classes, by the 1034 Constitutional Amendment in 2019,

Article 15(6) and 16(6) of the Indian Constitution, following provisions are made.

Choose the correct option.

This reservation can be availed by persons not benefiting by schemes for SC,

a.
ST, OBC.
b.  The reservation proportion will be upto 13% for economically backward classes.
c.  This reservation is for education and job related benefits.
d. The reservation proportion will be upto 10% for economically backward classes.
Which of the above sentences are correct ?
Answer options :
(1) Onlycandd (2) a,b,candd
(3) Onlya,candd (4) Onlybandec
P.T.O.
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28 .
mmmaﬁmmm

Sy wre’ A ufig srea u, :ﬂf#ﬁm i bt

QoI USY GEHEET 2019«
(1) wfaad fa.ar, frRargst

(2)  wfaed wra. d
(3)  wfaad gy yrgmae
(4) westsr 3.9, @Re

t
Prof. Anil Gore, known as ‘Marathi Kaka’, was awarded State Governmen

award 2019 for popularising Marathi language.

(1) Poet V.V. Shirwadkar
(2) Poet B.R. Tambe
(3) Poet Mangesh Padgaonkar

(4) Novelist V.S. Khandekar

74.

ARG FoeT foar &9 (FRL.3NEY) 3 S wgew Wde v g em afeet

AT 10§96t 3718 2
(1) To9 &
(2) foan 9

(3) wifed FAR
(4) fafy smi

Who is the first Indian to be appointed as General Vice President of International
Organisation Development Association (IODA) ?

(1) Rajesh Reddy

(2) Vinaya Shetty

(3) Mohit Kumar

(4) Nidhi Sharma
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wmmm(lsmnﬁﬁmzozouﬁmmwmm
(1) TR

(2) =09 fag

3) TS

@) ¥R

Th i
e Il"ldlan Space Research Organization (ISRO) will launch an unmanned
campaign in December 2020.

(1)  Gaganyaan
(2)  Vyom Mitra
(3) Robonaut
(4) Fedor

76.

grefier fami S faum I a1 ?

(1) e werea 288 FeEAHI 26 ST, 1950 Tsft TeeereaR. TET= Hel.
(2) Wﬁwﬁﬁﬁﬁ%wﬁﬁwnmﬁw%ﬂﬁém.
(3)  ‘GEre A TR g Ao @ e A Teehe Hch .

(4) SOAIH THE TR

Which one of the following statements is correct ?

(1) On 96th January, 1950, 288 members of the Constituent Assembly signed the

Constitution.

2) ‘Procedure established by Law’ was adopted from the Constitution of the

United Sates of America.

(3) The idea of ‘Joint sitting of two Houses of Parliament’ was taken from the

British Constitution.

(4)  None of the above

0.

TR SHTETE T | SPACE FOR ROUGH WORK
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77. st TsEeeA A favh arefler faur faamda e A Sfegh FuA w0

3. WE R e S geofyq snfn gef o A o Brer wl
e W I8 A9 wfn s wged, 49 a9 Az a5 1
B Hdl.

‘g, mwwmwmmmwmmmw
facreft ame.

gt IW ;

(1) faum 31 ster

(2) fagm 3 s

(3) = faum iR

(4) 2R faum gehieh

Consider the following statements about the ‘Preamble’ of the Indian Constitution :

a. It states the objects which the Constitution seeks to establish and promote an.d
also aids the legal interpretation of the Constitution where the language 1is
found to be ambiguous.

b.  Like any other part of the Constitution, the ‘Preamble’ was not enacted by the
Constituent Assembly.

Answer options :

(P Statement a is correct

(2) Statement b is correct

(3) Both the statements are correct

(4) Both the statements are incorrect

78. 9. %4 ﬁ%mmﬁﬂmm@mﬁmﬁﬁmﬁuwmmw

T w2 Fd ?
(1) mm%mmﬁmmmm
(2) @qaﬁ?wmm_ammmmmmm.

(8) R HERTS B Heehiaefiel F=T GRom 7.
4) mewwﬁwwmm%uwmﬁw%ﬁ@mw
TS 3R,

As observed by Prof. K.C. Wheare, which one of the following statements correctly

shows the true nature of the Indian Federal System ?
(1) The Indian Federation is more a functional than an institutional concept.
(2) A one dominant party regime which is in conflict with the principles of

federal TS
(3) The Indian federation isno‘t_t‘h_ﬁ‘gs@p_pf an agreement between the units.
federal features rather than a federal state

/('i) It is a unitary state with subsidiary
with subsidiary unitary features.
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. arefie !
= Favm feremrg vy |

vk i, A S aifun i gl i gan sif e a6 gl
R 15
et awidter smverive fieh e # i ae wrear 2 g AT

WEE e,
qatet 3w ;
1) faum s =

(3) e faum s
(4) e faum g6eh

Consider the following statements :

It is a joint responsibility of the Sarpanch and Upa Sarpanch to maintain
secured custody and proper safety of proceeding register and other relevant

records of the Gram Sabha.

b. The first meeting of the Gram Sabha in every financial year shall be held

within two months from the commencement of that year.

Answer options :

(1) Statementa is correct

(2) Statement b is correct

(3) Both the statements are correct

(4) Both the statements are incorrect

Feeq] HTHTRTA! ST / SPACE FOR ROUGH WORK

P.T.O.

Scanned with CamScanner



32

A14
80.  wrefie faum s wA sme At AT e 2T
T HNTATE Fua, @ guarenn qud freArAl it 4 ?Téa

mmmﬁmmmmm,q’mwwﬁmﬁqﬂmmﬁw
gqaeft aidtan Eaen

T, mﬂﬁmmmmmmg”m

m@awmw@mmmmmmm
?ﬁqw%mwmmaa,ﬁm,emwwavmmﬁﬁﬂm@mw '

3.

gt I ;
(1) faym s (2) faum & s
(3) 2= faumy s (4) e faum ghER

Consider the following statements :

Any resolution of Gram Panchayat shall be modified, amended, varied or

a.
cancelled by a Panchayat after a period of three months from the date of the

passing thereof by another resolution supported by simple majority

No resolution of Gram Panchayat shall be modified, amended, varied or
cancelled by a Panchayat within a period of three months from the date of the
passing thereof, except by a resolution supported by two-third of the total

number of members of such Panchayat.

Answer options :

(1) Statement a is correct (2) Statement b is correct

(3) Both the statements are correct (4) Both the statements are incorrect

81. mmmmmmmm?

(1) =IEeadH qAfdeis (2) HEEE TS
(3) yed fafufaam (4) @ g

The judicial control over administrative actions emanates from the Doctrine of

) dicial Review (2) Rule of Law

Separation of Powers

(3) Delegated Legislation (4)
' / SPACE FOR ROUGH WORK
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g2.  USIUST ITSAT Gaefy Gegy
Wmﬁmm‘,w’ o S —— L i
€) = Wﬂmm s
- %vmg;'e”é- T o) Quarern anfirsbre St
(3) A ToIEEy FS St wEfirre ST aEE 5 HA F7q IrRATE
LG ;;K A Tfmren suary Snf @ U AEAH HEA feeamE
R el W et ten
(4) TSIHeI=a
R 3'3533-163w@mwmmm6ﬁ,ammmwﬂ?
RELIEIRFCIERE Gl oo i
‘VI:'[: :;}lllhof e fCTllo.wing has been wrongly listed as a recommendation of the
1’ Commission with regard to the Governor ?
(1) H(? 'should_ have the power to sanction prosecution of a working or retired
minister without or against the advice of Council of Ministers.
(2) He may be removed by a resolution of impeachment passed by the State
Legislative Assembly.
(3) He may be removed by resolution of impeachment passed by the Rajya Sabha
and agreed to by the Lok Sabha.
(4) Article — 163 of the Constitution should be amended in a way that he may not
be able to exercise his discretionary powers in an arbitrary manner.
g3, g U T AR (RGSA) #T 38 ?
(D Wmmmmmmmammm
(2) ﬁaﬁﬁmwmﬁmﬁﬁammmm
(3) AT YRETR e argfervar= AT
(4) wrdEmEl 9 e O sireeTe o A
What is Rashtriya Gram Swaraj Abhiyan (RGSA) ?
(1) Itisa scheme aimed to enable Panchayat Raj institutions to prepare Gram
Panchayat Development plans
(2) Itisa scheme for promoting regular Gram Sabha and their records
(3) It is a scheme for increasing voting at village level
(4) It is a scheme for promoting direct election of the Sarpanch
BT et S TO.
e raradl o | SPACE FOR ROUGH WORK P
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@refter faum fa=amma i .
. @ Gfydiy 7 Hewr Usgaie geed Edrd.
i e 3 T A= fE s Fg HATd A AR A o

" TeHd dlishorE] dfidi=n areqer .
e faamTdh srer faum/A So" JR/A 2
(1) ad

(2) ®Fd o
(3) & 3T § gt

(4) I a7

Consider the following statements :

a.  Public Accounts Committee has seven members of the Rajya Sabha.

b. It is mentioned in the rules of day-to-day business of Lok Sabha that a member

of opposition will be the chairperson of Public Accounts Committee.
Which is/are the incorrect statements from the above ?

(1) Onlya

(2) Onlyb

(3) Bothaandb

(4)  None of the above

85.

WIS Yo SRS TR Fet feet 3.
(1)  =rHd S fiysy
(2) =t 3.ew. I
(8) =t fArh Szery
(4) = e i g
First Lokpal of India is
(1) Justice Dipak Misra

(2) dJustice T.S. Thakur
(3) Justice Pinaki Chandra Ghose
(4) Justice Jagdish Singh Khehar

1 STTT / SPACE FOR ROUGH WORK
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35 A4
L T2, A i TSI aad)’ srareft s v weft A1
- et T ) faan. forargs

(4) @ ALHAT FIAL
V.D Sociation by the name ‘Granthottejak Mandali’ at Nashik.
D, SaVarkar

Shi dkar
(3)  Justj (2) V.V.Shirwa
s Ranade (4) Anant Laxman Kanhere

Started ap g
(1)

18_8_§ _?_4915?11 FTSH

(1) SITE1Y v/t 9rg —— R yagen swmfeh 1o

_A(9) TS g g

(3)  qrermg Ash (4) TRtrorTET HEd

During the period 1885 to 1915 was known as the uncoronated king of
Bombay. P

(1) Jagannath Shankar Sheth (2) Bhau Daji Lad

(3) Dadabhai Naoroji (4) Pherozeshah Mehta

R R e m————LE L R LR
o1, . SN WigH, 5. S, qer

. T SAETHl Higsh, TRE T SEEieht

. faga Tush R, = T M T

T Tifde fage $¢, T@ Hed TS

uatdt IW :

(1) & A, q MU (2) ad 3, § A

‘ C|
3) wFd &, & A0S (4) FEA 3 O

igi d social reforms through
.~ have worked for religious an
Who from the following

Prarthana Samaj ?
q. Dr. Atmaram Pandurang,
b. Vaman Abaji Modak, Nar

. Vitthal Ramji Shinde, Jus e
d. Govind vitthal Kunte, Rao Sahe

Dr. R.G. Bhandarkar
ayan Ganesh Chandavarkar

tice Mahadev Govind Ranade

Answer options g (2) Onlya,bandc
(1) Only &, b and (4) Onlyaandb
3) Onlyb,candd PTO.
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89. wreftad) wivran femf 12 7, 1875 U5 Siaw=ai) ufgen 38/@ Hefl (4) HrATYL
(1) 2 g (3) 313“’«’:;"- g
12th May, 1875 7
Where did the first revolt of farmers take place on (4) Solapur
(1) Pune (2) Supe (3) Ahmednagar
90.  @refiet e Hoza
1857 =4t IaTaT=it dhe T
. TR II. U9y gead
% wHRad II1. aremETse vre
gt 3w ;
H q < g
(1) Iv II1 II I
(2) IV II III
3 1Iv g IT II1
4) IV I III II
Match the following :
Centres of the Revolt of 1857 Leaders
a. Peth I.  Vaikappa Naijk Balwant Behari
b. Nargund II.  Ramchandra Patwardhan
c. Jamkhandi III. Babasaheb Bhave
d. Shorapur IV.  Bhagwantrao Kolj
Answer options :
a b c d
(1) I ITI II I
2 1v II II1 I
3 IV I II IT1
(4) IV I 111 II
91.  FETEdi=Al T AT TEvrs ST el s B
(1) fs-sored— (2) <7 fgm
3) fafvrm s @
The demand for freedom for the colonies was like asking for the moon, said
(1) Lord Dalhousie (2)  Lord Ripon
(3) William Jones (4)  Lord Morley
\‘
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(3) FIAFA ¥ Wz (2) e 4 fagh
The first ¢ (4) erehel d HT
Dalhousie’ e-legraph line . | ,
usie's tlme. was lald from | o e o g ki s during L()fd
(1) Calcutta to Delh]
(3)  Caleutta tq Madras (2) Madras to Delhi
(4) Calcutta to Agra
93. 1875 T FRI ey
(1) TR fuh dge
(3) Sngraﬁ : (2) ARE™O Td Jar
(4) @RSt gL
Who from the following was in the forefr ite th kers to f thei
association in 1875 2 e forefront to unite the workers to iorm eir
(1) N e
(3; S}Tray a.r.l Meghaji Lokhande (2) Narayan Rao Pawar
apurji Bengali (4) Sorabji Shapurji
94. gaém@?«ﬁaﬂﬁaﬁw STeerETe Ted HewTH AT el Bl ?
(1) e JHHie (2) wire-SaRe
(3) oIS Talh&eA (4) wFE AH
Under whose chairmanship did the Bombay Government establish the Railway
Board ?
(1) Lieutenant Prescott (2) Lord Dalhousie
(3) Lord Elphinstone (4) Lieutenant Nelson
0. g S S i
1) wemd g — 39 iy
(9) . It §e e 3"“0'“1“ :
FEIE HIfd ATH 3|\§?J|
(3) e T R e
(4) wwIRE BT A e
Fi he wrong pair ,
ind out the ! dhurani — The All India Women's Council
(1) Sarala Devi Chau . - g e
3 . Besant __ The Women’s Indian Association
(2) Dr. __ The National Council of Women in India

i Tata
(3) Meherba1 2 The All India Women’s Conference

—
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96. v 1820 wedl HIvie Hedd anreft geffef vrrea1 HAH ge
(1) wershu fie serarder damad)
(2) fafewr wim wpe grarad
(3) @EEd wit Afeeg fsier vseghvm
o S PR T lcutta in the year 1820 ?
Which society started a school for Bengali girls in Calcu
(1)  Calcutta Female Juvenile Society
(2)  British Foreign School Society
(3)  Society for Native Female Education
(4)  Scottish Mission
97. 8 I ARATA “Fareh’ tiarers %z BId.
(1) e (2) fegh (3) TR (4)  #eTE
was the centre of ‘Wahabj’ movement in North India.
(1) Patna (2) Delhi (3) Firozpur (4) Aligarh
98. @&mmmwwwm@mmmmﬁ

®.  fawga om, S frem varees

gt I ;
(1) %9 3, 9 anfr = (2) %37 A, % anfir 2
(3) % 37 amifor § (4) %o & anfor =

Who from the following persons helped Jyotiba Phule to run a Girlg School in Pune ?
a.  Sakharam Yashwant Paranjpe, Sadashiy Govind Hate

b.  Sadashivrao Ballal Govande, Moro Vitthal Walvekar

¢.  Vishnupant Thatte, Keshav Shivram Bhawalkar

d. Kashirao Deshmukh, Haribhay Chavan

Answer options :
(1) Onlya,bandc (2) Onlya,candd

(3) Onlyaandb (4) Onlycandd
e
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g9, TSI Sty Yoo . 39
. TS my g
9. foem agg L e sy gore
F. W Gy - L oo faaegoma
T < v L e g
L S IV. i fag=m
H ] - &
@ 1 RIS
@ I 0 S sy
3) II I W et
@ IV
Match the following :
a. Paramahansa Mata Prasamsha I.  Gujaba Joshi Punekar
b. Vichar Lahari II. Krushnashastri Chiplunkar
c. Follower of Sakta sect ' III. Morbhat Dandekar
d. Dadoba Pandurang IV. Dharma Vivechan
Answer options :
a b c d
(1) 4% L e . o 18
(2) I II e
3 T AR

@) IV B

100. wﬁaﬁﬁ@mmﬁm

ot = feaeh e e 3qHIE 49

v Ll ~ (2) IEERR
(1) wfe S
(3) rsA
the same day Gandhiji’s movement
Tilak passed away, B
The day Lokmanya
: bay.

was launched 37 B(.)m . ey (2) Non-Cooperation

- > n
(1) G Dioshie (4) Quit India —

ti Lagees P.T.O.
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